Isotope Practice Worksheet





Name: 
1. Here are three isotopes of an element: 
612C

613C
          614C

a. The element is: __________________

b. The number 6 refers to the _________________________

c. The numbers 12, 13, and 14 refer to the ________________________
d. How many protons and neutrons are in the first isotope?  _________________

e. How many protons and neutrons are in the second isotope?  _________________

f. How many protons and neutrons are in the third isotope?  _________________

2. Complete the following chart:
	Isotope name 
	atomic #
	mass #
	# of protons
	# of neutrons
	# of electrons 

	92 uranium-235
	 
	 
	 
	 
	 

	92 uranium-238
	 
	 
	 
	 
	 

	5 boron-10
	 
	 
	 
	 
	 

	5 boron-11
	 
	 
	 
	 
	 


3. Naturally occurring europium (Eu) consists of two isotopes was a mass of 151 and 153.  Write out the atomic notation of BOTH isotopes of Europium in the space below.  
4. Strontium consists of four isotopes with masses of 84 (abundance 0.50%), 86 (abundance of 9.9%), 87 (abundance of 7.0%), and 88 (abundance of 82.6%).  Write out the atomic notation of ALL FOUR isotopes of strontium in the space below.
5. If you only had atomic notation to look at, what number would have to stay the same to indicate that the isotopes come from the SAME ELEMENT.  What number would be different?  
